Some Grammar for Practice

( BASIC CONCEPT-1 |

CHAPTER ,

1,

T-B.

=)

What is acid in ‘acid test’ or ‘acid 9,

attack™

(&} Noun

(B Adjective

[C] Adwverb

M} MNone of the above

Which part of speech is distinetly™?
[A) Noun

[B] Adjoctive

{C) Adverb

(D) None of the above

Which part of speech is
‘approximately’?

(A Noun (B) Adjective

(C} Adwverb

(D) Mone of the above

Small strokes tell great oaks.

(&) fallen (B) fall

(C) fells

(D) No improvement

The reporter(A)}/ was unable(B)/ to
illicit information from the police
(C}/ No error(D)

The receptionist asked the patient,”
Wha recommended you to Dr.
Paulson™?

(A) imtroduced
() alhided

(D) Mo wmprovement

{B) referrod

Whenever | —— at the moon, my
heart — with pleasure.

(&) looked B saw

(C] viewed D) gaze

(A) tills B} filled

(€] field (D} [eels

10.

11.

12.

13.

1.

16,

17.
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from blame, he was released to
live the life of a [ree man.

(A) Evaporated (B) Exempted

{C] Exonerated (D) Excused
According to me, She is sick.

(A) According to iy opinicn

(B] In my opinion

{C) According ta my view

(I} No improvemen!

It brings two to make a quarrel.

[A) wants [B] needs

() takes

(I3 No improvement

Our knowledge of history does nol
come to (A} our help and sometimes
we even [ail to (B)/remmember who
invented America. (CjNe error.[D)}
My grandfather owns (A), fifty acre
(B]/ of wel land. [C)/ No error.(D)

We didn't the programme to be
such a huge success.

(A} except [B) expect

|C) acceas (D) accept

We should oppoTtunities as
they arige.

A cease (B) sizc

C] snceze (D) scize

The student’s aren'l prepared __ the
sxamination

1A) to listen B} to work

{C) to take _  |D) to give

The government, in a bid to make
Bihar, a preferred invesiment
destination, has  major schemes
to create infrastructure at different
stages.
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(&) opposed (B} opened 22, The chosen for construction of
(C) pushed (D) launched the building is in the heart of the
18. Isuffer fromno  aboutmy capa- city.
hilities, (A&) sight (Bl site
(A doubls (B] hallucinaticns 1C) cite (D} =light
(C) imaginations 23, He her that she would pass.
(D) Wonder (A) assumed  (B) assured
19, CV.Raman wasan scicniist, [C) insured M) ensared
(A) eminent (B} imminent 24.  Sordid and sensational books tend to
[C) itimerant (D} sensible vitiate the public taste.
20, Pleasc wear your jacket as it is get- (A} distort
ting very cold, (B) divide
[A) take on (B) get on (C) distract
iC] puton (LY N improvement (D) Mo improvemenl
21. The host offered me tea but I denied 25, The rwo parties have w each
it. other's sensibilitics and _ towards
1A) refused a win-win merger.
B said no (A) seek, move (B) develop, look
IC) rejected (C) respeet, werk (D] accept, develop
ID) No improvement
[ Answer ]
L@z @@+ s ©fe m]7n o o @
9, <) | . (B I1.0€) 112, (€) || 13. B) 4. B | 15 (I l&. (C)
17. (D} || 18. 3 19.(4) 120, (€) [|21. (&) | 22. () |23 ®) [ 24. (L)
25. (C)

[ Explanation of Some answers J

1. (B); Here ‘acid’ qualifics ‘test’ (a neun). It works as an adjective here.
4. (D); Fell - Fiemn

fell felled  felled
Fall — T
fall fell fallon

3. (C); Change ‘illicit’ (Not accepted by the society) into ‘elicit’ (tn draw o),
8. (Bl The patients are 'referred’ while the doctors are ‘recommended’,
9. (C); TExonerate’ means to free from blame'

10.(B): 'According to me’ is wrang Engliah

L1.(C); Phrases and idioms are used in their original forms.
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12.(C); Discover - to become aware of something for the first lime (o %37)
Invent - to create or produce something for the first time {Fi5sm1 5907}
13.(B); Change ‘acre’ into ‘acres’
Eg.-{1) one acre
(2} fifty acre
14.[Bl: Expect - to hope (5515 371
Avcept - (TSR FH)
Access - Toeacl (95
15.(A]; Cease - 1o stop ()
Seize - to grab (g
18,8} Hallucination means' Lo see What docan't exist’
19.[A); Eminent’ means known and respected’ — (399H%) Imminent’ means bound to
happen soon’. ‘ITtinerant’ means wanderer’ [(JRFRE)
20.(C}); ‘Put on' - T#T, wear — U5 gL 8
21.1A); Deny means 'w reject the truth of |,
22 (B, Site — M TaE, Cite — Ieofd FO
23.(B); assure— aueef T, Ensure — g1 #0T
Insure — =9 =4, Assime — OF o
24.L); Vitiate— w% =09

ol
=]
o
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[ BASIC CONCEPT-2

1. Making pies and cakes___ Mrs.
Reddy's speciality.
(A) Are (B) is
(C] Were (D) Has

2. You must your career with all
SCTIOUSNESS,
(A) complete (B) follow
(C] pursue (D) direct

3. The deserted garden was with
wieeds.
(A) infested (B} full
(C] abournds (D) growing

4. We will provide you with loan [A)/
provided you have sufliciently{B)/
collateral to pay it back.(C)/ No error(D)

5. Krishna's stories ____ me very
strangely,
(Al effected (R) affected
(C) changed (D} afflicted
6. Ships are by giant engines,
[A] =ailed (B) driven
[C} pulled (D) dragged

7. The glass figurine that was being
shown in the store window appealed to

me.
(A] No improvement
B] thatwsason displey
(C] that was exhibited
(D} thar was advertized
8. By morning the fury of the flood
(A} ebbed (B] receded
[C] retired (O} abated
9. The sum and substance(A)/ of this
poem (B)/ is as follows, (C)/ No error
(L)
10.He does not laugh, nor he smiles.
(A) No improvement
(3] nor does he smile
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{C] nor do he smile
(D) neither he does smile
| 1.¥ou must endure what you cannot
clure.
(A} No improvement
(B} suffer
{C) accept
(I prevail
12.The others shook their heads and
made vague noises of approval,
[A) No improvement
(B] hung
(C] turned around
(D) nodded
13. River Damodar in West Bengal carry
the effluents from the Durgapur
Industrial complex for miles,
(A) ecarries the effluence
(B) carried the effluents
(C) Mo improvement
(D) carries the effluents
14.He could not be zble to think logically
because of his illncss,
(A} was not able
(B] No improvement
(C) cannot be able
(D) can be unable
15.The origin of Baraswal (A)/ and their
disappearance (B)/ have always been
a matter of debate. (C)/No error (D)

16.Jim suffered a of fortune.
&) reverse B8] reversal
[C) regress T rewvert

17.8udha is an extremely (A)/ bad
manncred girl (D)) and avoids
socializing. (C}/ No errdr (D)
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18.8he is an cxpert painter (A)/ and can (B) cheaply, dearly

draw any figure (B)/ with just a stroke ({C) cheaply, dear
of her practiced hand, (C)/ No error (D} [D} cheap, dearly
19.5he is a real eager beaver (A)/ and can 23 1 wasn't (A)/ all together happy(B}), with
g0 up to any limit (B)/ to give the best my performance, [C)/ No error (D)
to their client, (C}/ No error (D) 24 My every day dress is (A)/simple, casy
20.Such losses of life (A)/are irrepaired to maintsin (B)/ and that gives me an
(B)/and cannot be compensated. (C)/ elegant appearance.[C), No error (D)
Ko error (D) 25.Apart of this maovie (A)/ is [ull of
21.Heis ___ drunk and his driving the car violence (B} /fand griiesome scenes. (C)/
can be for all of us. No error (D}

(A) dead, deadly (B] dead,dead

(C) deadly, deadly (D) deadly,dead
22.1 bought this shirt as things are

not ___ in this market.

(A) rheap, dear

E Answer j

L ®ll2 ©2mlses ®s ® s @7 ® (|8 @O
9. O Jwm | 1.0 12 o] 13 o || 14 & [[15 @® |16 @B
17. B [ 18.c) | 19.10 [200 ® | 21 @) || 22 (& |23 ® [ 24. 1

25. (A

Lﬂxphnaﬂnn of Some answers]

1. (B); Here we are talking about just one action ‘making’. Hence singular verb will
come.

2. [C); We pursue certain courses, graduation etc. Pursue’ means 'te follow up’ or ‘to
find or employee measures to obtain or accomplish’,

3. [A); ‘infested with' means ‘to be in or over' [a place, an animal ete.) in large number.

4, (B): We need an adjeclive here to qualify noun ‘collateral’. Hence use adjective
form ‘Sufficient’.

5. (B}; ‘affect’ means ‘to influence’ (srm =)

9. (I; Here ‘sum and substance” denetes ‘eyat’ 1.e. a singular subject,

10.[B}; Negative Introductory takes inversion. Hence the part starting with mor” will
take ‘inversion”.

11.[A); It is a famous saying.

12.(1); Not® means to move your head up and down as a way of answering yes' or
approval’.
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13.[0); ‘Efluents" means Tiguid wasic’,

14.{A); Both “Could’ and ‘able to" express ability. Both when used together make the
sentence superiluous,

15.(B); Change thel’inle ils’ Saraswati’ a singular noun will take singular adjective
ite’,

16. (B, ‘Reversal of fortune' means ‘a change of the fortune for the worse’.

17.(B); Change bad"into il’. Here we need an adverb to qualify adjective ‘mannered’,

18.(C); Here V, (Participle) will gaalify Noun ‘hand’. Change Practiced’ into practised.

19.(C}; Change ‘their’ inlw ‘her’. She’ a sinpular pronoun will take her® a singular
adjective,

20.(B); Change ‘repaired’ into 4rreparable’

21.(A); Tread drink’ means ‘extremely drunk’. Deadly’ means Fatal,

23.{B); Change ‘all together’ into ‘altcgether’, ‘Altogether’ means ‘completely’

29.(A) Here we need an adjective, ‘Bveryday’ i.e. no space belween ‘every’ and 'day’ is
neecded.

25.(A); Change “Apart'into ‘A part’.
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EQ

4-5.

L

10,

iL

E VER_B-lw

He not have spoken the truth.
(A) did (B) will

(C) shall (I} ey

The boat —_

[Al was drown (B} had drowned

(C) =ank (D) drowned

Humasan beings make a pretty
good claim to be the masters of the
nlanet Earth.

{A) will . [B) should

[C} conld (D) can

We, as [ureign learncrs of English,
_ _ have to find out the ways to
the wealkness and drawback of poor
apellings.

{A) would (B) might
(C) will (D) should
(A} simplify (B) modify
(C} overcome (D) rcetify

No sconcr (A]}/did he sat for
dinner(B|/then the deoor bell
rang.(C)/ No errar (D).

As women constitule half of the tetal
populstion [A)/ it is high time we
pive B}/ tap priority to female child
education. {C)/ No error (D).

If Twas he (A) I wouldn't accept (B)/
this project. (C]/No error{D).

The new dish [A)/that T ordered (B)/
is tasting good. [C)/No erzor{D)

Iwish 1 a pen.
(A) were (B) am
IC) was [T} he

Look after your health_~
shiould repent later on.

you

12,

L3

14,

15

16,

17,

18.

15,

20.
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(A} as (B) because
(C) till (13} lest
The criminal was ordered to he

hanged to death,

(A} hung to death

(B} hanged till death
(C} hung ill death
(M) no mprovement

. Come what T shall adhere to my
principles.
[A) can [B) may
(C}] might (D) will
As you sow , 20 _____ you reap,
(A} will {B} shall
(C) would (D] can

I will go out {A]l/ when vou (B)/ will
come [C)/No crror (D),

The ancient Olympic Games was
[A]/ a series of athletic competitions
among representatives [(B) [/ of
various eity states of ancient
Greece. (C)/No erroriD).

The streets (A} are so wet. (B) It
should have roined last night [Cff
to error(D],

The train will not start (A]/ until the
guard(B}; will blow the whistle, [C)/
Na error(D}].

HI__  her address, | would have
called an her.

(A) will bave (B} had lknown

(C) can have (D) shall have

The measles are {A) 2 discese that
cauzes(B) fever and a red rash. {C}/
No error(D}.
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27,

22,

23

‘A tale of two cities' {A]/ have been
written (B)/ by Charles Dickens.
{C)/No error(D,

‘Gulliver's travels’ (A)/ were written
(B]/ by Swift.(C}/Ne error(Dy,

An imminent surgeon (A)/ is
visiting the hospital (B}, to attend
the surgeons' conference.(C)/ No

28,

(C) would (D) can

If I was vou, I would not sign the
document.

[A) If T have been you

(B} T I were you

(C) T had been yo

(D) no improvement

29. The carpenter did not keep his
4 srtar (. i ; promise that the work will be
24, ?’I‘Etﬂ countrics ~ the world:[4)/ is finished before the end of the week,
Be{El 1pcar:{i:.j 2 i {A) can finish  (B) could finish
25. A technical view of new gadgets (A)/ : .
; 5 {C) would finish (D) no improvement
sometimes differ (B) from an ; ; :
economie perspective. (C)/ No error (D). 30, She is loving chocolate ice creamL.
26, 'The principle import (A}/ from Brazil [A) has loving  (B) haa been loved
(B)/ is coffee. (C)/No error (D). (] IOVES‘ (D) ITHJ Impl‘r::t‘.-"EIEEnt
27. 1 rather die than join the gang 31. 1a&m having (A}/ no information (B|/
of terrorists. about his sudden demise.(C)/No
(A} could (D) should error (D),
L Answer ]
1. D) | 2 (€ 3 D4 © ) 5 1O 6. B (7. B ||8 A
o. (€ [1w@ | 1oz @ 13 @ | 4@ [15 © |15 @
1% 12 18, (C) 19. (B) [[20. (A} | 21. B 22. (B} 123. A) || 24. (B)
23. (B) || 26. (A) 2r.(C) | 28. B) | 29. O 30. (C) 131, (A)
r Explanation of answers j
1.{D); ‘May’is the correct option as it is used to denote ‘Possibility’.
2.[C); ‘Sank’isthe correct option as ‘sink'is used for non living things.
2.[(D); *Can’'is used lu express ability.
4.(C);
3.(Ch
6.(B); "Bit'will be used. Did takes V> form of the verb.
7.(B); 'Gave’will be uscd. Tt is high time’ is followed by V" form of the verh.
B.(A); "Were’ will be used, If the sentence expresses imaginary position, all

subjects are followed by “were’.
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9.(C); Ts tasting’should be replaced by ‘tasted’ as the first clause is in Past tense.
Moreover ‘taste’is not used in ‘ing’ form.

10.(A); Were'will be used. Explanation same as 8.

11.(D); Lest'will be used. As ‘Lest....should’is a correlative.

12.(B};'Hanged till death'is correct legally and malees more sense,

13.(B]; May” will be used, ‘Come what may’ means no matter what happens’.

14.(B);*Shall’ will be usad. It is a saying.

15,{C);"Will' is not needed here. (When two actions take place in future, the Znd
action is in future Indefinite Tense whereas the 1st action is in Present
Indefinite Tense)

16.(A); Were"will be used as ‘The ancient Olympic Games' requires a plural verb.

17.(C); ‘Sheuld have rained”must be replaced with ‘must have rained’because the
sentence is of strong possihility,

18.({C}; Will'must he omitted. When two actions take place in future one after the
other, the 2nd action is in Future indefinite tense while the 1st action is
must be in present Indefinite tensc.

19.(B); ‘Had knowii® will be used. The formule of past conditional sentence is -
sub+ had + V,, sub+ would have + V,

20.(A); Ts’ should replace ‘are’. Measles’the name of a disease takes singular verh
with it.

21.|B); 'Has 'must replace Tave''A tale of two cities’ is the name of a book and it
must be followed by a singular verb,

22.(B); Was’ must replace ‘Were’, ‘Gulliver’s Travels'is the name of a book, so
singular verb must be used.

23.[A); Change imminent’ into ‘eminent’. Here we are tallimg about ‘s known and
respectable’ scientist,

24.(B);‘Are’ must replace ‘is’. Plural verb should be used with ‘Countries’.

25.(B}; ‘Differs’ must replace ‘Differ’. ‘A technical view’is a singular suhject,

26.(A); Principal’ must replace principle’, as it means ‘chief or ‘main’ ‘Principle’
means rule or law’,

2T.(C) "Would" will be used.

28.(B) U Iwere you'is the correct option as love is generally not used in ‘ing’ form.

29 (C) ‘Would finish’ must be ased, as principal clause is in past tense.

30.|C) Loves’is Lhe corroct option as love’is generally not used in ‘ing’ form.

31.(A) Have’ must replace ‘am having’. When ‘have’ means “to possess’, It doesn't
take ing'form.
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14,

11

382

| vErB2 |

Don't lean against the wall, It would
collapse.

(A) must [B) shall

(C)] might (D] No improvement
It iz said that Oscar wilde was most
sincere artistically when he depicts
insincere characters,

(A)] were (B have been

(C) is (D} No improvement
Will you please me a book ?
{A) borresw (B} lend

(C) owe (D] have to lend

Smoke from diescl engines {A)/
become wvisible (B)/ as the carbon
content inereases. (C)/ No error (D),
Krupa and Kavya studied [A) in the
Delhi Public Schoeol (B)/and so does
Kamya. (C)/No error(Dy).

We kept all the old paintings in a
place where they would remain safe
from harm or danger.

[A) will remain safe

(B} are safe

(C) may remain safe

(D] Mo improvement

I am having more than 100 bocks.

{(A) had (B) have

(C) have had (D) No improvemernt
We _ the picture on the wall,
(4] hung (B] hanged

() hang (D} hanging
Prices during the war,

(A} raise {B) risen

|C} rise (D} raising

I ghall go and down,

(A lied (B) lie

() was (D) e

Thig box of chocolates is belonging
o me,

(&) belong
(C] belongs

(B) are belonging
(D)) Mo improvement

12,

13,

T4,

1&.

T

18,
19.

20.

21.

22.

23.

Mary would not go to the market
unless I go with her.

(A) shall go (B) went

{CY would go {D) No improvernent
HIwashe(A)/ I wouldn't accept [B)/
this project./ No error (D}

There are so many filths [A)/ all
aroiind (B)/ the place./ Noerror (D).
The building is not safe and must
b down,

(A] pull (B) pulling

{C) pulled (D] pulla

The doctor ___  Lhe patient from
taking certain medicines.

fA) proscribed

(B| prohibited

() prescribed

(D) banned

I do not know (A)/ to drive acar (B} /
nor do [ intend o learn this skill. (&)
Nao error(D).

I 'wondered (A)/to write well (] and
sgore good marks. (U} Mo evver(D).
Can you teach me (A)/ to spesk as
clearly(B)/ and effectively as voua do.
(C)/Na error{D),

The teacher toid the students that

the Sun _ & star,

(A is (B| was

(C) had been (D) were

He __ Lhe mavie yesterday.

(A) saw B} hias seen

{C} had seen (D} would have seen
Ul __ inhisshoes, [ would die with
shame,

() am (R) was

(C) were D) have besn

It is \ime we ____ something to stop
road aceidents.

[A) do (B} did

(C) does (D) had done better
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241, When the thief entered the house, {A) leader

the watchman on duty was fast . (B) machine

[A} asleep |B) aslept [C) instrument

(C} sleeping (D) sleep (D) meniter
25.  Half of the movie_ ___ aver, 28, M | am yet to receive the latest

(A] Is (B} has __ of this journal.

(C} are (D] were {II} We should talk ahout this __
Dirsctions (). 26-30): In each of these as early as possible to avoid conflict.
guestions, two scntenoces (I) and [1T) are (A) issue B) edition
given. Each sentence has a blank in it. (T} aspect (D) findings
Four words (A), (B}, (C) and (D) are gitven 29. ([) Durnng that period,Thada
below the two sentences. Out of these, of work that was to be done,
only one fits at both the places in the () The salesman told us that the
context of of each sentence. Find the appliance we hought was the best of
correct anawer, the ’

26. (I} The petshop hada ___ dog for [A] heap [E) season

sale, (C) 1ot (D) plenty

M) Iplantousethe _ moneyto 30, I He will _____ the boards to make

pay for my educatdon. - a boat.

[A) pet (B] earned () I _ _ him in the theatre

|C) prize D) borrowed yosterday.

27. M A ___ keeps track of a patient's (A saw (B} tore
heartbeats i the ICLL [C) broke (D} sawed

{If} This year I have been made the

of my class.

L Answer T

L @lzolasmls ®s ©]ls o7 ® [8 @
9. (¢ | . | 140 f12. @ || 13 @) || 14 8 |15 () || 18 B
7. ® | wem | 19m (200 @ 2 @ | 22 © 23 @ [ 24 @)
25 (A} | 26.00) || 27 |28 &) || 29 @ || 30 ()
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14C)
2.(C)
3.8

4.(B

5.(C)
6.(D)
7.8l

8.[A]
9.(C)

10.(B)
11.(C)

12.(B)
13.{4)

14.(4)

15.(C)
16.(B)
17.(B)

18.(B)
19.(B)
20.(A)
21.(A)
22.(C)
23.(B)
24, (A)
23.[A)

25.(C);
30.(A);

L E.;.planaﬁon of answers J

‘Might’ is the correct option as it denotes a bit of possibility.

Ts' is the correct option as the verb ‘depicts’ is in present tense.

lend’ is the correct answer.

‘Borrow’ means to ‘get temporarily”.

‘Lend’ means to ‘give temporarily’.

Becomes® must replace hecome', 'smoke’ being an uncountable noun takes a
singular verb,

did’ must replace ‘does’ as the action is of past.

No improvement,

Have’ must replace ‘am having’. When ‘have' means ‘to possess’ it does not
take ing’ form.

‘Hung' must replace ‘hanged’,

‘Rise’ is the correct option,

TRaise’ means ‘to lift’. Rise’ means ‘o inerease’ or 'to grow up’.

Lie’ must be used. ‘shall’ takes V.’ form.

‘Belongs’ must be used as ‘box’ is the main subject here and ‘belong’ gerierally
does not take ing' form.

Went' is the correct option as the action is of past.

Were' must replace ‘was' ‘Were' comes with all subjects in imaginary sen-
tcnces.,

There iz so much filth’ must be used as ‘filth” is an uncountable noun and
hence will take singular form, singular verb and adjective ‘much’.

‘Pulled’ is the correct form. Must + be + ¥,

‘How’ will come before ‘to drive’, It Verbs like know’, ‘wonder’, Jearn’and “teach’
are followed by infinitive (to+V ), a '‘wh® family will precede the
‘infinitive’.

Zee cxplanation of 17.

See explanation of 17,

Ig" must be used as it is g urgversal truth,

‘Saw’ is the correct option as the sentence has a past time given in it.

‘Were’ is the correet aption.

Did’ must be used. (Tt is time + sub’ takes V,, )

‘Asleep’ is the correct option.

Ts' is the correct option as half of & singular noun (movie) will take singular
verb.

Prize means ‘a reward’ as well as ‘something desired’.

Saw (V) means to cut with a saw (a tool used to cul wood etc.)

English for general competition, volume -2
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10.

[— VERE & TENSE-1 1

Choose the correct sentence-

(A) How dare vou touch me ?

(B) How do you darc touch me ?

(C) Howr dare you to touch me ?
(D) How dared you touch me 7

If vou heet ice, it ___.

(A) will melt (B] melts

(C) would melt (L} could melt
It's time the children ___ in bed.
(A) are (B} will be

(C] were {2} could be

Neurotoxin attacks (A)/ the nervous
system (B}, and damage it. {C}/ No
errar (D).

All his children (Ajare knowing(B)/
at least one foreign language, (C]/
Nu error({D).

He has gone to Kolkata last week .
(A} went to Kolkata last week

[B) haa left for Kolkata last week
|C) has procesded to to Kolkata laet
week

(T} No improvernerit

[ have been ringing the doorbell five
times but no one has answered.

[A) T had been ringing the doorbell
[B) I am ringing the doorhell

[C) I have rung the doorbell

(D) No improvement

I am looking forward to
{A) receive

[B) receiving

(C] have received

(D) be receiving

you.

Measles a relatively harmless
disease.

{A) are (B) have

(C) had (D) is

[ am not used 1o vil the left,
(A) driving (B) drive

(C) having driven (D) driven

1551

13

14

15,

i}

20.

21
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Raman is having a good ear for

musie,

[A) Raman has a good ear

(B) Raman is owning a good ear

(C) Raman is possessing a good ear
(D) Mo improvement

When he will arrive, the band will
play the National Anthem.,

(A) After he will arrive

(B) 1T he would arrive

(C} When he arrives

(D) Mo imuprovement

He didn't know [A}/ whether he will
enjoy (3)/ himself./ No error (D)
Let vou and I [A}/ press our minds
(B}/ into thinking out./ the best
solation (D).

The goldiers were instructed to
resiraint and handle the situation

peacefully,
(A} contral [B] remain
(€} enforee D) exercise

A large sum of money {(A]/ was kept
aside |B} / for the education of the
child by me. (C)/No error{D).

None of my friends (A)/ are applyving
(B] / for this job. (C)/No error(D).
Lack of winter rains |[A)/have
delayed the sowing of [B) / wheat
crop in the area. (C)/No error(D).

If you will come tomorrow (A)/ we van
go to the market {B}/ and do our own
shopping together. (C)/Na error(D).
News travel (A)/ very fast today (B)/
due to advancement in techneology.
{Cl/Ne error{D].

The Chairman made it clear at the
meeting [A)/ that he will not step
down (B)/from his position as
chairman.[C)/ No error(D].
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22, Just ax he was driving slong the 27, [t is ten years since I have begin
road, 1A)/ a bus pulled up and the living here,
driver asked him (B)/if he has seen (4) begun {B) had begun
& briefrcase on the road.(C)/No [C) began DY Np improvement
error(D), 28. [ have heen staying here _ _ last
3. The train should armive [A)/ at 7.30 wizelk,
in the momning B) /but it was alimoest (&) since (B] for
an hour late. |C)/No error(L). {C) from
24,  Unless he does not leave this house, (D) None of the above
1 will not say anytking . 29, Identify the correct tense which
{A) left (B leaves has been used in the sentence-
(C) has left By the end of this year he will have
(D) No improvement saved a 1ot of moncy,
25, The price of cars [(A)/ have besn (4] Fulure perfect continuous tense
reduced (B)/recently. (C)/ No erroriDd) [B) Bimple future Lense
26. The baby usually doesn't cry but__ . (C} Future continuous tense
{A) he is erying a lot today (D} Future perfect tense
{B) he cries a lul oday 30, Themeeting _  at 4pm shatp,
(C) he iz not crying & lot today (A) starting (B] starts
(D) he has been crying a lot Loday (2] start
(D would start
r Answer j
1, (A 2. (B) 3 (C) {4 (2] 5 (B 6. & ||7. (C) B. (B)
9. O | 10.(A) 1.8 (12 @ | 2 ® || 12 @ |15 @ | 16 (G
17. @ [ 1@ | 9@ 2o | 2w [ 2 0 (23 @1 |24 @
25. @ | 26.(8 | 27.(0) fz8. & | 29. o || 20. B
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1.{a)

2.08);
3.(C};
4.(C);
5.(B);
6.(A);
7.Ch

8. (B);
9. (D};

10.(A);

11.(A)
12.(Ch
13.(B);
14.{A};
15./D4;
16.[C);

17.(B);
18.48};

19.(A);
20.AnL

21.(B);
22.(C);
23.1A),
24.(B);
25.(8);
27.12);
28.(A);
29.(0%
30.(B);

C Explanation of answers j

If ‘dare’ as e modal is used in an interrogative sentence, it is followed by V'
(bare infinitive].

The sentence iz a universal truth.

‘Were” will be used .10 is time' is followed by V, if a ‘'sub’ follows ‘It is time’,
‘Damages’ must replace ‘damage’ ‘Neurotoxin' is a singular subject.

Know’ will replace ‘are knowing’. Know' usually comes without ‘ing’,

‘Last weel’ refers to past time. Hence the sentence should be in past tense,
Present perfect lense is used in the latter part of the sentence hence the firat
part too should be in present perfect tense,

Receiving’ will be used, ‘Looking forward to’is following by a ‘Gerund’,

Ta’ will be used. ‘Measles’ is the name of a discase and hence takes singular
verb with i

‘Driving’ will be used. Used to’ is followed by a Cerund if ‘used to’ is preceded by
a ‘verb'

If ‘Have’ shows possession, it is not used in WV . ing’ form.

When he arrives’ is the correct aption. ;

Would' must replace 'will’ as the sentence is in past,

We’ must replace T ‘Let’ is followed by the obiect form of pronoun.

by me’ must follow “was kept aside’ to give the most appropriatc meaning to
the sentence,

Ts' must replace ‘are’, ‘None' takes a singular verb,

‘Has’ must replace have' Lack' is the subject here which takes a singular
verb.

Will" must be omitted. “Will’ is not used in 4f clause’,

Travels' muat replace Travel’. News is a singular subject and takes singular
verh,

Would® must replace ‘will’. Sentence is in Past tense.

‘Hard’ must replace ‘has', All other verbs of the sentence are in Past Tenss.
Change ‘should arrive’ into ‘should have arrived'. The action is of past.
T.eaves' is the correct optiunn. “Unless’ is not fellowed by ‘not’.

Change ‘have’ inte 'has’ Price’ a singular subject takes singular verh.

The action of living there already started.

Bintce’ is used for ‘point of time’,

The action is planned future action hence simple present tense is the best
option.
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rVERB & TENSE-2 J

He asked me if I had ever dressed in

black.

{A)] He =aid to me,"Havc you ever
dressed in black ?"

(B] He said toe me,"Had yvou ever
dreszed in black ®

(C} He said tc me,"Did vou ever
dress in black 2"

(D) He said to me,"You have ever
dressed in black ?"

He asked me if T had ssen the Taj

Mahal .

(A) He said to me, "Have vou seen
the Taj Mahal 2

(B) He said to me,"Had vou seen the
Taj Mahal 2"

(C) He said toc me,"Did you ever see
the Taj Mahal ?"

(D) He said tome,"You have scen the
Tuaj Mahal 2

He told me that he had not visited

that place the provious night

(A} He said to me,"I have not visited
this place last night” .

(B) He said to me, "I had not visited
this place last might" .

() He said to me, "I did not visit this
place last night" .

(L)} He =aid to me, "T did not visited
this place last night” .

The poor woman (A)/ grinded the spices

Bl/ and zold them in the marke:. {C)/

No error (D),

She said to me,"Whao is the woman

i the red dress 2"

[A) Bhe asked me who the woman
in the red dress eould be.

10,

11,

(B She asked me who is the woman
in the red dress.

{C)] Bhe asked me who the woman
ir: the red dress was.

() She asked me who was Lhe
woman in red dress,

A drive has been launched to fight

Dengue in Kolkata

(A) campaign  (B] revolution

{C} camp (D) Mo improvement

Maggie lovk a hot bath hecause she

was working in the garden all

afternoon,

fA) is (B] has

[C) had heen (D) No improvement

He who will bid the highest will get

the product,

(4} who bide the higheat

(B] who the highest bids

{C) who would bid the highest

(D No improvement

If sirict security measures were

taken, the tragedy might have been

(A) averted (B} removed

(C) controlled () restrained

NMight cawme un and the room ___

dark.

[A) is growing (B} has grown

(C) grew (DY) will grow

They could not tell me why did he

not eat

his lanch.

{A) why not had he eaten

(B} why he did not eat

{C) why had he not eaten

{1} No improvement
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12. They had reached the station before 20,

the Lrain

(A) left 21,

(B) was leaving

(C) had lefl

(D) had been left 22.
13. Rohan had been playing(A)/ for his

club for fifteen years (B)/ when his

elbow got injured./ Mo errar {0 23
14. If he had time he will call vou.

(A) would have (B} would have had

{C] has (D)No improvernent 24,
15, The soldiers were instructed to

restraint and handle the situation
peacefully, 25.
(A} cantrol [(B) remain

(C) enforce [D) exercise

16, The U.S (A)/ don't want{B) / Indiain 26,
the Security Council, (C)/No
error(). 27,

17. The clients are waiting outside sinee
morning and will continue to wail
until you meet them.

(&) have waited

(B) have been waiting 285,
(C) were waiting

(0] No iinprovemnent

18. 1 have got your letter vesterday (A)/
and felt happy to learn (B] / of your 29,
recovery. (C)/No error(D].

19, Bam is working (&)/ in a bank in
Chennai (B)/ for the past five years, 30
(C)/ Ho error{D).

LIy mother (A)/just has arrived [B)
at the station. {C)/No errar{D).

We have been knowing (&), each
other (B)/since we were children,
(C)/ Mo error(D).

[ricreasing racism and hate crimmes
(A} casted a shadow(B)/over
elections.{C)/ No error{li].

At some seasons (A} some areas on
Mars (B)/iz subject to strong
wind. (C]/ Mo error{D).

Slow and steady the race .
(A} 1z winning B} wins
{C) will win 3} win

I whistled thrice (A); with full might
and raize my arms (B)/towards the
sky (C)/No error()

The thief escaped (A]/before (B)/1
opened the door, (C) /No error(T)

She asked me
{A) what was the time

|3} what is the time

|C) what was time

(D) what the time was

Each of the studenits (A} stand up
and say 'Yes' (B)/when his or her
name is called by the teacher.(C)/
o error{Dt

It _ very hot tomormow.

{A] is (B) will be

{C] iz being (D} has been

lam __ a movie

(A] nolicing (B} loocking

(C) watching (D) seeing

[ Answer

5..‘1

w2 ml a3 @ls ®

@& | .00 | 1@ 12 @A) | 13
17. ® [ 18 | 19.4) 20, B || 21
25. (B) || 26.(4) || 27.() |28 (B || 29.

(€ I & (& 7. (€ |8 (A
(D) 14. (C} | 15. (D) || 16. |B)
(A) || 22. B [[23. () [[24. B)
B Il 30. (€ |
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L(A);
2.(AK
3.(C);

4.(BJ;
3.(C);
B.(A);
7.Ck
8.4Ah

o.(A);
10.[C):

11.(B);
12.(A);

14.(C};

15.(D);
16.(B);
18.(A);
19.(A);

20.18);
21.04),

22.(B);
23.(C);

24 (B)
25.(13);
26.{A);
27.(D);
28.(B);

29.(B);

[ Explanation of Some answers ]

Here action is important. Hence ‘Present perfect tense’ is the best option.
Explanation same ag 1,

Past time is given. It means the action is of past and hence ‘simple past tense’
iz best suited.

Change ‘grinded’ into ‘ground”. V, of ‘grind’ () is ‘ground’,

Where the sentence is assertive, the verb follows the subject. Here ‘the woman
inn the red dress’ is the subject.

Drive’ and ‘Campaign’ mean the same. To launch a scheme or campaign’ is
more in use.

"All afternoon’ denotes a period of time hence perfect continuous is the best
ophon.

Touble future’ doesn’t come in & sentence, The first action must be in simple
present ifense.

Tragedy and accidents are averted [to prevenl froin happening).

The acticn is of past.

Sentence is not interrogative. Assertive form will follow ‘why',

When two actions took place in past one after the other, the 1st action is in
past perfect tense and the 2nd in simple past tense.

When two actions is to take place in future, the 1st action is in simple present
tense {change ‘had’ into has’) and the 2nd action is in ‘simple future tense’.
[He will call you' is given in the sentence.)

You exercise restraint, vour rights, (to vote ete.)

Change 'don't’ inte ‘doean’t’. U.S iz a singular noun,

Change 'have got’imnto 'got’. The action is of past.

Change s’ into ‘has been' ‘For the past five years’ makes it clear that the
action is of perfect continuous tense,

Change ‘Just has arrived’ intn ‘has just arrived’. Just comes after the ‘helping
verh' but before the main verb,

Change have knowing’ into ‘have known’ as ‘know’ is generally niot used in
ing’ form.

V. ¥V, and V, of ‘cast’ are same.

Change ‘is'into ‘are’ because ‘areas’ will take plural verb. Also change ‘subject’
(V1) (te force to undergo into ‘subject’ (V,) as the sentence is in passive voice.)
Slow’ and ‘sready’ denote the same idea and hence will take singular verb,
Change 'raise’ into ‘raised’. The sentence is in past.

See explanation of question 12,

Bce cxplanation of question 5.

Change ‘stand’ into ‘stands’ and ‘say’ into ‘says’. The sentence is in Simple
Present Tense.

Tomorrow' will take ‘simple future tense’,
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10.

[ VERB & TENSE-3 J

Until you do not go to the station(A}/
to recetve him (B)/ 1 can hardly feel
at ease.[C)/ No error. (D)

1 did not know where they were going
(A)f nor could 1 undersiand (3] /why
had they left sn soon. (C) /No error (1)
The call of the seas [A) fhave alwavs
(B)/ found an echo in me. |C)/No
error (D}

It is difficult to explain (A)/why did
Rajpopalachari resigned |B)/ from the
Congress in 1940. (C) /No error. (D)
The boss reminded them of the old
saying(A)/that honesty was the best
policy (B)/ and told them that they
had better be honest in their
work.[C)/ No error. (D}

‘Guliver's Travels' are (A)/ the most
fascinating adventure story [B)/ that
| have ever read.(C) No error. (D)
The way he's behaving,(A]/ he'll
soon spill the beans, (B}/ I'm afraid.
(C)/ No erroz. (D)

We swam up 1o the drowning man,
caught hold of his clothes [A)/ belure
he could go down B}/ zgain and pulled
him, out safe to the shore.(C)/ No
error, (D)

Meesna was so tired [A}/ that she
could not hardly {B) /talk to the
guests for a few minules.|C); No
error. (D]

I I was knowing (A)/why hc was
absent,(B)/ 1 would have informed
you. G}/ No Error. (D)

13.

14,

15.

16.

1v.

18.
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There is no rain in our village for the
last six months.

(Al has been (B] was

{C) had been D) Mo improvement
Ramarhandra Murthy and his family
have been in Guyana from 1985,
[A] =since (B] about

[C) om [ No mprovement
I am living in this town since 1980,
[A) was living  [B) shall Tive

(C) have been living

(D) No improvement

If I was vou I should tell him the
truth,

(A] am you (B} were you

[C) had been you (2] Ko improvemen:
Anil vught not to tell me your searet,
burt he did,

{A) Lo be telling (B] tell

[C) to have told (D) No improvement
If I were him [ would not accept tha

offer.

(A} If | was him (B) If | were he

(C] If I had he

{0} No improvement

Whet the naton needs is peonle of
character.

|A} are the people of character

(B} are people of character

(C] is a people of character

{0} No improvernent

We now come to the important
guestion of where this great swarm
of galaxies have come from.
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19,

(A) have come

(E) has come from

(C) are coming from

(D) No mmprovement

I never saw you at the party
vesterday,

[Al have not seen

(B) did not see

(C) bad never seen

D) No improvement

20, 1did not wait for him because he went

oul before I arrived.
{A) has gone out
(B) had gone out
(C) hod been out
{1 No improvement

22, Bince the beginming of the term, we
are spending a lot of time on postyy,

fA) spent (Bl will apend
[C) have spent (D) No improvement
23. Never I have seen such

reathtaking scenery |
{A) Never have | (B) Ever T have
(C] T cannot ever
(D} No improvement
24. Dickens' novels, like many writers
are largely aulobiographical.
(&) like those of many other writers
{B) like so many others
(g} like many other noveligts
(C) No improvement
25. It is necessary to _ ___ _that

21. Whenever I saw him he has been adequate standards are maintained
reading the same novel. (A] msure (B} influence
(A] had been reading () ensure (D) control
B} read
{C) was reading
(D] No improvement
F Answer J
| I
L fAl || 20 (£) 3. B 14 B 5 B 6. (A f 7. [4) || B. (B)
9. ® | 10 1. (a) 120 @l 13 () || 14 ® |15 (D) || 16. (B)
17. (M) || 18. (B) 19.(®) [20. @) || 21. &) | 22. (€ |23 (A) |24 (4)
25. (C) |
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1 {A);
2 [C);
3(B);
4 (B}
3 (B);
b (A},
7 (A);
8 (B);

9 (Bl
10(A);

11(A):
12(A)

13(C);
148},

I5(C);
16{B});

17(D);
18(B);

19(B};
20(B);

21{A);

22(C);
231A5;

244A);

23(C);

[ Explanation of answers j

Mot’ must be omitted. ‘Until’ does not take ‘not’,

They had’ must replace had they’ as it is 1ol a question.

‘Have' must replace ‘has’. Verh will agree with ‘Call’.

‘Did" should be omitted, as it is not a question.

Ts' must replace “was’. Honesty is the best policy’ is a maxim.

‘Are” must be replaced with is’. * Gulliver's Travels” is a singular subject,
‘Behave' normally doesn™ take ing’ form, Change ‘is behaving” into behaves'.
Would’ will replace ‘Could’, as here we arc not talking about his ahbility to go
dowr.

‘Hardly” and ‘not’ can't be used together.

‘Had known’must replace ‘was knowing’. Sub + had+ V3, sub would have + V3
is the formula of past condilivnal sentences.

Sinee for + Lime’ is given, use perfect tense,

‘Since’ must replace ‘from’, ‘Since’ ia used with 'Peint of time’ when denoting
past.

‘Have beepn living' should be used os the sentence is in Present Perfect
Continuous Tense.

Were you® should be used. In conditional sentence, when an imaginary post
iz expressed, ‘were’ follows all the subject.

The sentence is of past.

Here ‘him’ cannot be used as it is not an object here. For imagmary posts, we
use, ‘were' with all the subjects.

Here verh' according to ‘what' must be used,

‘Has come from’ should be used. Swarm’ is a collective noun and it takes
singular verh.

Trid not see' must be used as ‘vesterday' i.e a past time is given,

The action of going out took place first and then ‘my arriving”. Use past perfect
tense,

It iz not just once (see word ‘whenever’. For a period of time, we use perfect
continuous lenge’,

Mever have I' should be used. Inversion form is required hers as negative
introductory sentences take inversion.

Like those of many other writere’ should be nsed, as we are talking about
novels by other writers in comparison to those of Dickens.

Ensure’ must be used as it means to make sure’,

Ensure- To make sure

Insure-To protect against risk.
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VERB, TENSE, SUBJECT-VERB AGREEMENT &
CONDITIONAL SENTENCES -1

He had nol even seen her presence
in the same room.

(A) rejected (B) registered

{C) regretted (D) No improvement
He is on the rink of financial ruin.
{A) periphery of

(B) boundary of

{C) side of

(D) No improvement

Prohibition is better than cure.

(A] Prevention (B] Preparedness
(C) Preventive (D) No improvement
Being very late, Mangj (A)/ could nat
return back (B)/ from Meerut last
night. (C}/ No error.(D)

MNothing has (A]/ orwill he (B) more
tragic than his demise {C)/ Noerror, (D)
The exam at 10 a.m. tomorrow.
[A) begins {B) is beginning
(C} would begin (D) begin

If I had known it was your birthday,
[ baked o cake,

{A) would have [B) will nave

{C} have

(D) would not have

My sister along with her two children

arrived.
{A) ia |B) are
(C) has (D} have
¥ou have no to order me.
{A) authority  (B) author

(C) permission (D} audaeity
The Manager gave his

to the proposal.
{A) consent {B) accent
(C) ascent (D) soothe
The biggest(1l] / health burden that
India (2) / iz set to face in the com-
ing years (3) /is tackle obesity (4)/
No error [5)

1

13

14,

13.

I,

18,

19,

24,

The policemen, who (1| | was
deplayed heavily (2) / in the area, did
nothing te [3)/dissuade the
protesters.(4)/ Neo error (5)

Festivals are prime occasions (1) /
for splurging on presents and owing
to improved sconomic situation (2) /
the vouths is gung-ho (3] /about
breaking all previous recerds. (4)/ No
error (4]

Not only has the c¢ommerce
ministry fixed (1)/extraordinarily
high minimum prices for onion
axports (2)/but also made licences
mandatory(3)/for every consign-
ment.(4)/ No error (3)

With a view to avoid another casle
conflict (1) /the police deparUnent has
deploved additional police forces (2)/
in the village, while the adminisira-
tion as well as police officials{3|/is
maonitoring the situation.(4)/No
error [3)

The pick-pocket was arrested [A]/
and his pockets (B)/searched.|(C)/ No
error. (1)

Many robbers were killed [A)/ and
one taken (B3} / prisoner.(C)/ Noerrur. (D)

Hinduism (A|/ is in existence (B)/
from time immemorial. (C)/No error. (D)
Every pen and every pencil (A)/ In
the room (B)/ were in order.(C)/No
error. (D)

You tistake in thinking (A)/ that ]
am (B)/ planning against moving o
London. No error. (D)

Diligence and perseverence (A)/ are
needed [B) /to succeed in life [C)/No
error. (D)
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22.  All but ene was spared. 24. Many of the city's narrow streets have

(A} All, but one, was spared. been
(B! All, but oue, was spared. [A) dlsngLush&d
(C) All \but one, were spared. (B) widened
(D} No improvement {C) doubled
23, Never ] knew thal the pleasant ride (D} rehabilitated
would turn into a nightmare, 25. Only the Chairman to the
[&) Never did I knew proposal to build mure houses.
(B} Never did 1 know (A} avoided
(C) Never I know (B} admitted
(D} No improvement (C) prevented

|D} objected

( Answer |

1. o 2 (D 3 A @Y 5 A 6. B 7. |
(Al | 10. (A) 11. (D) | 12. B | 13. (©) 14. (C) || 15. {(
B} | 18. (B} 19.(C) [ 200 (A || 21. B) 22, (C) | 23. B | 24. B)

25. D) | L

]| & (C)
1 16 (C)

1. D Y
2. (D)
4. (B
5. (A);
6
7

23.(B);

@xp!umﬁun of Some answerg

‘ou register vour own presence. You nctice others' presence.
‘On the brink of meane ‘about o hsppan
‘Return back' is a superfluous expression Remove hack’,
Add heen’ after has, ‘Has' takes V, While will takes V. Use both forms.
: Ior future planned action, we use sm*plc present tensf: for official purpose.

; Conditional Sentence -» sub+had+V,, Sub + would + have + V,,

; i two subjects are joined by ‘alung mth‘ the verb agrees w:th the lst subject.
;i Change tackle’ into ‘tackling’ or ‘how to tackle’,

; Change ‘was' into “were', ‘Policeman” will take plural verb.

» Youths' being plural will take plural verb ‘are’,

: Change ‘made’ into ‘has made' as the sentence has started with present

perfect tense,

: Change ‘avoid’ into ‘aveiding’. ‘with a view to’ is followed by V +ing’.
: Change ‘searched’ into ‘were searched’ as the 1st part of the sentence is in

passive voice,

; Change ‘taken’ into ‘was taken’ as the 1st part of the sentence is in passive

voice,

; Change ‘is’ into ‘has been® as ‘from/ since + time’ is used in perfect tense or

perfact continuous tense,

; ‘Every’ takcs singular verb. Hence Change ‘were’ into ‘was’,
; Change 'mistake’ into ‘have mistaken’ or ‘have made a mistake’
; Change ‘are’into ‘is". Here ‘diligence anud perseverance’ mean the same hence

singular verb will be used.
Negative intreductory sentences take inversion form.
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VERB, TENSE, SUBJECT-VERB AGREEMENT &
CONDITIONAL SENTENCES -2

She college late that day.
() was reaching (B) reaching

{i’) iz reached (D) reached
The Sun brightly.

(A} shone {B] shining

(C) shine (D is shine
Lokesh was busy when we___ to sze
i,

{A) go (B} went

{C) gone D) goes

The date of the function not
been decided yet,

[A) have (B) has

(C) was (L3) i3

Dur geography teacher told [A)/ Lo
study the map of India (B)/ for a
test.(C)/ No error. (D)

My brother-in-law (A)/ who lives in
Mumbai [B|/have come to stay with
us. [C) Ne error. (D)

Weither Ted nor John are going,

[A] have been going(Ejwere poing
(] 15 going

(04 Ne improvement

You have played instead of worked
{A) working

(B) having worlked

(C) being worked

(2] No improvement

An instent later pandemomium wWas
broken out.

10.

11,

12.

14,

(A) had broken

(B) was breaking

(C) broke

(D} Mo improvement

The Suprems Court has

tourism in the core area of the
forcst,

(4) propagated

[B] encapsulated

(C) foroed D} prohibited
The Indian team should fare well,
shouldn't thev ?
(4) oughtn’t they
(C) should it
ment

The performance of the maestro left
the audience entranced.

[A) attentive

(C) attracted

(D) No improvement

An increase in crimes apainst

[B] shouldn’t it
(D} Nu improve-

(B} enamoured

women have been reported in the

newspapers recently.,

(A) are being reported

(B} has been reported

{C}) has been written

{0 No improvement

Arun has his work.

[A) completely (B) completing
(C) complete (D) completed
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15, Rather than __ others, whydon't 22.
vou look for your own mistakes ?
[A) helping B) pointing
{C} blaming {0} watching 23.
16, We have been living in this house
1965, 24,
(A) when (B) for
(C) befere (D) since 29,

17. Since Amit was an phu-
tographer, he did not charge any
money for taking our picture. 26.

(A) amatenr
(B professional 27.
(C) uscless (D} unknown
18, The director along with his assis-
tants /{A) have thoroughly examined 28,
(B})/ the new proposals. (C)/No
error. (D) 29,
19. You are a very lovahle person (4] /e
I (B} am not loving you. (C)/ No er-
ror. (1)
20. Ths bunch of xeys (A} Jhave been lost 30,
(B} by my mother early in the mom-
ing. (C)/} Ko Error, (I
21,  We ought servefA)/our elders(B)/in
the family. {C]/ No Error. (D)

Wear something warn (A} /lest vou
should not B}/ catch a eold. [C)/No
Error. ()

I found (A}/that all my money(B)/
have gone. {C)/No error. (I

Hurry up lest{Al /yau should not (B)/
miss the train. (C),; No Error. (D)
Akbarwas (A) / one of the fincst king
(Bl/ that India ever had. [C)/No
Error. (D)

Someone knock (A)/at the door (B) /
whemn Iwas having bath. (C)/ Ho Ecror. (D)
He jumped [A) /in the river (B)/ta
save the drowning child. {C)/ No
Error(l)

Each of us(A)} fhave done(B|/the
assignment. (C)/No Error. (D)
Nobody will _ the facl that she is
honest.

(4] defy B) deify

() cignity (D) deny
Silkworms like on the leaves of
the mulberry tree.

j4) feeding [B) fed

(C] feed (D foud

L Answer

2. (A 3. B+ @ | 5

i

9. () f .o | 1@ 12. B | 13
17. (&) | 188 | 19.00) 20, B | 21
25 @) | 26.(8) | 27.(8) |28 (B || 29

wle @il © (8 @
B I 14. (@ 15 (€ || 16. (D)
A || 22, 1 23, © (=24 B
o) || 30. (A)
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1.(Dk
2.(A);
3.8)
4.(B);
5.(A);
6.(C);
7.1C)

8.[A);

10.(D);
11.(B};
12.(B);
13.(B);
17.(A);
15.(B);

19 CE
20.(B);
22.(A)
23.{C);

24.(B);
25.(B);
26.(A);
27.(B);
28.(B)
29,(D);
30.(A);

|: Explanation of Some answers ]

Action is of past. Use V.

None other option is approprizte,

Action is of pasL,

Sentences that has ‘yet' are in present perfect negative tense,

Add ‘object’ after ‘told’. Verb ‘tell’ takes an object after it,

Change ‘have’ into ‘has’ as subject ‘brother-in-law’ is a singular subject.
When two subject are joined by neither...nor’ the verb agrees with the nearest
subject. John' will tale singular verb.

Prepositions takes ‘gerund’ after them.

To protect ecusystem ‘tourism' is generally ‘prohibited’ in forests,

Here team is a collective noun and hence will take singular pronoun.
Enamored' means ‘attracted’,

Singular verb ‘has’ will follow ‘increase’ (singular nounj,

‘Amateur’ does something as hobby and not for money.

When two subjects are joined by ‘along wilh’ the verb agrees with the 1st
subject. Director’ will take singular verb has’

Change 1 am loving' into Tove'. Love’ usually deesn’t take ‘ing’ form.
‘Bunch’ a singular subject will take singular verb ‘has’.

Change ‘wear’ into ‘put on’, wear - %8¢ T2 =, put on- 56

Change ‘have’ into ‘has’. Money lakes singular verb unless we use monies
lamount of money)

Remove Tot’. ‘Lest... should' doesn'’t take ‘not’,

Change ‘king' into kings’. We talk about 'One of the + Plural Noun’.

Change ‘Knock’ into ‘knocked’. The action is of past.

Change ‘in’ into ‘into’. To show motion inside something, we use Sinto’,
Change have® ittto ‘has"

Deny' means ‘to refuse to accept on admit’.

‘Like’ is followed by a ‘gerund’.

3098
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He, She, Baby, Abode
and Groups
S.No. | Animal Male Female Mfspring Home Groups
1 Ant Drone CQueen Larvi, Pupa Formicary, Colony, Asmy,
Ant nest Swarm
2 Ases Jaclk Jenny Foal Barn, Shed Drowve, Pace,
Hed
3 Bee Drone Queen Larva, Pupa Hive, &piary Swarm, Ersl,
' Hive
4. Bear Hoar Sow, Cub Den Sloth, Sleuth
she-bear
5. Callle Bull Comwr Ealf Cow shed, byre Herd, dicve
[ % Cat Tom gat | Quecn Killcn Cartery Clowder
i Crnel Bull Cow Call - Carsvan, Train
Flock
&, Chicken| Rooster | Hen Chicksn Coop Bruood
e, Drogs Diog Bitch Fupoy kKennel Fack [dogs|
Litter [Puppies)
10. | Deer Thaclk, Dae Fawn Houme Ranges Herd
Stag
11. | Buck Drake Drack Duckling Nest, pen Flock, Brace,
Paddling
12. | Frog 5 - Tadpols, Froguery, Army, Colony
Froglet, Enot (group uﬁ
iands]
13. | Fox Fox Wixen Cuh Den Skulk
14. | Fish - < Alevin, fry Aguarium, Pond | School, Shoal
Fingerling
15, Fonsn fander | Goose Gosling - apzle, Skein '
16, | Goat Gilly, Nanny, Kid Pen Tiile, Drove,
bule Doc Herd, Flock
17. | Horze Btallion | Mare Colt ;male), Siable Herd
lelding Filly [female),
Faal
L8, | Haore Bracl, Dioe Leveret Buarmow
Jaclk
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